SHIRE SHANKS

STANDARD AUTO-TENSIONER KIT

BULLETIN JT012

Standard spring tensioner needs changing after 750 hours

Part No. RDG702B30

Kit contents:

Part | Part No Qty Description
1 RDG502B1 1 Auto Belt tensioner
2 RDG401A306 1 Shire 50 Auto Tensioner Brkt. Port
3 RDG401A307 1 Shire Auto Tensioner Brace Brkt.
4 RDG401A429 1 Shire 50 Hyb Alternator Top Brkt.
5 RDG1417 2 M6 x 25 Cap Head Screw SS
6 RDG1622 2 M6 Flat Washer Form B SS
7 RDG1255 4 M8 x 30 Hex Head Screw SS
8 RDG5976 2 M8 x 100 CSK SKT Screw BZP
9 RDG986 1 M8 Flat Washer Form A BZP
10 RDG1029095 1 M10 x 30 Hex Head Screw SS
11 RDG10110173 1 M10 x 50 CSK Screw BZP
12 | RDG102B5 1 M10 x 100 Cap Head Bolt BZP
13 RDG628 5 M10 Flat Washer Form A SS
14 | RDG716 2 M10 "P" Type (Full) Nylock Nut BZP
15 RDG5731 1 Spacer 200D x 10.5ID x 8mm Long
16 | RDG103A196 1 M8 "T" Type Half Nylock Nut BZP
17 | RDG549 4 M8 Spring Washer SS
18 | RDG561 2 M6 Spring Washer SS
19 RDG1111 1 M10 Spring Washer SS
20 RDG105A7 1 M10 x 25 OD BZP Washer
21 | RDG669 3 M10 Flat Washer Form A BZP
22 RDG1068008 4 Spacer 10.51Dx200Dx10mm
23 | RDG102A90 4 M10 x 40 Hex Head Bolt BZP

Copyright © 2020 E.P. Barrus Ltd. VAT Number: GB226662558. Company Registration Number: 148476




SHIRE SHANKS BULLETIN JT012

Copyright © 2020 E.P. Barrus Ltd. VAT Number: GB226662558. Company Registration Number: 148476



